DL ko () IZhTEELEME, NLRBATEEIANT

Lx,

® 1THEDNEX 1 ( )
@ BEZFEOES 15 ( )
@ VUDk=E 5 ( )

N2 ROO~@T, EWIEI) o ( ) IZOZFE=Z AT L £ 0,

@ 150 ¢ 5kg @ 800 kg 80 t

( ) ( ) ( ) ( )

@ 4500 ¢ 4kg @ 770000 kg 7t

( ) ( ) ( ) ( )




TA W) oE)oI LT LrESELLHEL & I,

® @

600g

T @RI LW EESEE YD EL L I,

® @




TS RDD~@D (

@

1kg = (

10kg = (

3kg300g¢ =

6kg80g =

40009 =

12000 =

87029 =

5008¢g =

(

(

(

(

) IZHhTIEELREZESIANNEL £ ),

) kg

) kg

) kg (

) kg (

) ¢

) ¢

) ¢

) ¢

) ¢

) ¢




CE wxs00go Tz, (U B SS0GAME L. AKOE X G- H
LCL x5, £F. ZMAFKGFGTL £ 5 b

N\
Kz ( ) ¢

( ) kg ( ) ¢

BL 5 b e dlt. BIEbb e AICFMEEST LA, ZOFiE. 30
FCOEE Y o Lt m5h ) Y AT, BlEh b e AmD ) B4

DL FAL0 LI

b <
TENFEFFT EZL )L TVWELED, B & KPRDOL I THLYF,
) PADREIZINCSIZT L TL &I 0,

(oo B BADHE R
50g £ C 120 A
ABgD S ¥ I 100g T | 140 H

150g £ T 210 H
250g £ T 250 M

-1 EVW3gNFHAE%Z 30 T\ 500g £ | 390 H
k / TkgZ T 580 M

-1 EVWbgoFE 1T LW

NCEZF




W8 ROD~@D (

® 3t = (
@ 6t5h00kg = (

® 9000kg = (

@ 15300 kg = (

19 ROD~O®D (

@ 500cm = (

@ 8000m = (

® 9000mL = (

) IZH TRELRFEEIANLTL £ 7,

) kg

) kg

)t ( ) kg

)b T E R ZEEANTIL £ 0,

) m

) mm

) km

) dL

) L



